o =
g OH N PR E
1. (%4
Sy SRNGAEEEIE A )1MR Ll XA S 2R L R A 275
JE1TH AT KAEH B BTN 4

2. ¥BNE

1) FEEP4

2)  JEATHIA

3)  ExaEtwill

4) EBNE
BIHE ER R R D LY,

FU) R F BT

S0 64 9128 ~ &F0 T4F 3A 14H

AEG T HUR) ) S FT A T3 A6 1R B L X SR T A D 7= DI B W F O FZE R K AT A 5 3

BaLitT b0 Thd,

=] 2230 LN 5 B A S




Vs BOE oM R E
e TS DM FEERANIREAUMRNEEBLBAREETEH 278  WEaVYILEY NEE
IHE FRAEEE
&R - I - 1Eh AL HE ] it Al A B
ERAEE 1,896, 358
AG&EE 1,743, 601
EEAHGE 1,743, 601
ERETE %% 1 136, 080
LTEE =] 1 50, 850
FREITEE =] 1 45,750
EMAARTE & Bl 1 50, 850
A e 1 138, 600 |+0
NEEDEE m 6000 30,030 [+0
NRFEEREE 5 R m 6000 21,450
RRER m 6000 139, 200 | +0
TR R SR EER m 6000 51,480 +0
R ERDFRE m 6000 97,824 |+0
ERAE (W) m 6000 171,192 |+0




2/5

#H - I - &l B #HE o] o] Al

WRAE (BYWH) m 50 609

Rz SRR MER E m 6000 90, 708 | +0

EIRETHE () m 6000 156, 552 |+0

A=A (RR) m 6000 109, 668

FAtth S E X m 6000 52, 740

T HhERE/ERL m 680 4,375 |+0

HIERH ENET m 680 3,151 |+0

RS R R AL m 6000 48, 338 | Htith FF Ak

T EHEREEERL m 6000 235,950 |+0

BRREAE m 6000 108, 204 | +0
EERE 152, 757

& = 1 25,921

HwmRE = 1 18,774

RE - XBE = 1 9,764




3/5

#H - I - &l B #HE o] i Al
BEFREMERE = 1 61,000
REEES = 1 37,298

MZAER 1,493, 642
ECpd 1,493, 642
ECpd =X 1 1,493, 642
E &R i 8, 469, 130
EEAGEE 1,776, 274
A& 1,716, 274
LYITEE GHESN) E] 1 84, 500
HRETEE CRIES) E] 3 253, 500
REMMAFRITEE CAES) E] 1 84, 500
ERFTEEDER CAIESN) E 1 46, 284
miEE (BYH) e 1 84,500
KEZMRE (C) d 1 109, 080 | 70k i




4/5

#H - I - &l B #HE o] Al
Bt TR (T5%) G5z 1 935, 152 | 40004 £ 8000k i
WEE (THR) X% 1 55,614
REEWA (Ti8 - F7D ® 2 339, 512 | 705K i
REEWA (Ti8 - F7D ® 8 1,705, 728 | 7T0LL 130K i
REEWA (Ti8 - F57D) ® 2 553,200 | 130L4 £ 200K i
REEWA (Ti8 - F7D ® 2 765, 944 | 20024 £ 300K 7
KERZYC (Ti& - FdD) B 1 120, 160 | 70K
FEREEMA (T8 - F/D B 1 224,168 | 200K i
EREREY/N (T8 - FR/D) B 1 187, 242 | 2001 £ 400K 55
RomERYE (T#H - F/) F 2 159, 212 | 35LA L65K i
RomERYE (T#H - F/) F 1 142,616 | 100LL E 150K
I (Ti8 - EaD Gz 3 277, 392 | 100K
I (Ti8 - EdD B AT 12 1,405, 944 | 100 LA £ 300K 7
I (Ti8 - EaD 53z 1 209, 626 | 300L4 £ 630K i




5/5

#H - I - &l B #HE o] Al iR

EEEREFHE REXEE) X% 1 32, 400
EEEE 692, 856
MHE =X 1 544, 330
RE - XBE = 1 148, 526

il $2 [ i 4,187,523
Z D fth R 1 =X 1 4,187,523
—REBRES 6,813, 347
—REEES = 1 6,813, 347

E i 22, 860, 000






